Pin Description:

The following figure counts from bottom to top:
PIN1=power supply negative,

PIN2=trigger,

PIN3=output,

PIN4=power supply is

P1 short circuit in the figure below (two small pad short circuit) timing time is equal to in the resistance
meter Time multiplied by 8 times

P2 short circuit in the figure below (two small pad short circuit) timing time is equal to the time in the
resistance meter multiplied by 64 times

he P1 and P2 are short-circuited at the same time (two small pads are short-circuited). Multiply the time
in the resistance meter by 512 times

Nee Do
JE.I

s W

= G001

A B [
BE e
FEMEE
EEAE
BFiEl, @

EREs |
Ty
H, A
SetE 2
ZHED
T8
PRoEe

S?
A—-—
SWi
8k AIR(— 18 H Sk )
L DUl AR 4) R T R iR
oo RERNTMIRMEEZARR
AP 5y, BT R B FHE 5 AT

ERERSEE-[UHESE, Ko it RS PEN SBRTH  BEACRTZEREKOIS
BHRECRANT ATFREIT FXERER b R )

A {7l R A 42 HILEDRY & LY (8] 7F X #% F JELED X %
B E A ER A B SLEDE R H S FEZFTFXBEK
B WRIBI KD RELEDEI R ARE, HE—FREH4SY




